[(3+3+3)+(8+8) points] 2

2a. Make each of the following sentences into a true statement by choosing one of the possible
completions. Indicate your choice by putting a X in the corresponding box. No explanation is required.

, z(z? — y?) : :
® lim 55 73 O exists Qfdoes not exist
(2.9)=(00) (y — 22)2 + (y + z?)
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@ lim y(z y)
(2.9)=(00) (y — 22)2 + (y + 22)?

O exists # does not exist
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K exists [ does not exist

2b. Now prove two of your statements in Part 2a. Write the number of the statement

you are provihg
inside the circle.

® [ will prove the statement @ here.
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\‘\"'\ D(x/"j : - = L\\'\—\ Q =0V
(X(O)"’)(Q,“) (&D“Xz) 4’(7+X) x-)O
g fhe e o) 1 (e
"9 (/xl’yx) a l\\v\ ,f_(,x____/—/ (1 ﬁ)lé
. 97—~ PN
() 7 (2 (o —x1H lyext] x 7O

0\(‘)/\7 h\bJ’MraL)qlc\, ‘j —’)61'



